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EC-305 (CBGS)
B.Tech., III Semester
Examination, November 2018
Choice Based Grading System (CBGS)
Network Analysis

Time : Three Hours
Maximum Marks : 70

Note: 1) Attempt any five questions.
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ii) All questions carry equal marks.
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iii)In case of any doubt or dispute the English version
question should be treated as final.
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1. Determine the current I in the circuit of figure-1 using
i) Mesh analysis
ii) Nodal analysis
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2. a) Classify different types of voltage and current source.
Also draw their respective symbols.
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b) Explain the principle working of RLC series resonance.
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3. Consider the graph shown in figure-2. Select a tree with twigs
(4,5,6), for this tree write down the tie set matrix and cut set

matrix.
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4. Calculate the current in the 68 resistor of the circuit of

figure-3 by

i) Thevenin's theorem

ii) Super position theorem
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5. a) Determine the value of Ry_to be connected across AB in
figure-4, for maximum power transfer. Also calculate the
maximum power absorbed by R;..
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b) State and prove Millman's Theorem and Tellegen’s
Theorem
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6. a) Inthecircuit of figure-5 at time t, after the switches was
closed, it is found that v, = +5v. You are required to

d
determine the values of i,(t,) and -ﬁ(ia}.
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b) In the circuit of figure-6 after the switch has been in the
open position for a long time it is closed at = 0. Find the
voltage across the capacitor.
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7. a) Find the current i(¢) for 1 > O for the circuit of figure-7
Assume that the circuit has reached steady state at 1 =0.
Switchis closed att=0
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b) Verify reciprocity theorem for the network shown in
figure-8.
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8. Calculate the Z and Y parameters of the network shown in
figure-9. Also determine if the network is reciprocal and
symmetrical or not
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